ICAR-CENTRAL INSTITUTE FOR RESEARCH ON COTTON TECHNOLOGY

(INDIAN COUNCIL OF AGRICULTURAL RESEARCH), ADENWALA ROAD, MATUNGA, MUMBAI-400019. TEL NO.: 2412 7273/76, 2418 4274/75, 2415 7238

Email ID: director circot@icor gov in

Email ID:-director.circot@icar.gov.in

Date: 29/08/2023

NOTICE INVITING E-TENDER No. 5 /2023-24

The Director, ICAR-Central Institute for Research on cotton Technology, (Indian Council of Agricultural Research), Adenwala Road, Matunga, Mumbai., invites online Percentage Rate based E-Tenders from approved and eligible contractors registered with Government organizations such as CPWD, state PWD, MES, Railway, P & T, Public undertakings, Nationalized banks etc., by e-tendering process for the following work:-

1.	NIT No.	NIT. No.5/ E-Tenders-Works/ICAR-CIRCOT/2023- 24
2.	Name of Work	Providing external repairs and painting work to Dr. lyengar Bldg. (NRL) at ICAR-CIRCOT, Matunga, Mumbai.
3.	Estimated cost put to tender	Rs. 7,72,741/-
4.	Tender fees (Rs.)	Rs. 1000/-
5.	Earnest money deposit	Rs. 15,500/-
6.	Period of Completion	40 (Forty days)
7.	Last Date & Time of submission of e- tender, and other documents as specified in the tender	Date: 13-09-2023 Time: 15.00 hrs.
8.	Time & Date of Technical bid opening of tender	Date: 15-09-2023 Time: 15.30 hrs.

- 1. The intending bidder must read the terms and conditions carefully. He should submit his bid if he considers himself eligible and he is in possession of all the documents required.
- 2. Information and instruction for bidders posted on website shall form part of bid document.
- 3. The bid document consisting of Plans, specifications, the schedule of quantities of various types of items to be executed and the set of terms and conditions of the contract to be complied with and other necessary documents can be seen and downloaded from website www.circot.res.in or www.eprocure.gov.in free of cost.
- 4. Only on-line bids through NIC's e-procurement Portal (CPPP) i.e on www.eprocure.gov.in shall be accepted.

File No.10/CIRCOT/ENGG/ExternalRepair, Paintingworks/lyengarbldg(NRL)//2023-24

Trupti Praveen Mokal

NIT. No. 5 / E-Tenders-Works/ICAR-CIRCOT/2023-24

SCHEDULE "A": BILL OF QUANTITIES AND SCHEDULE OF WORKS: NAME OF WORK: Providing external repairs and painting work to Dr. Iyengar Bldg. (NRL) at ICAR-CIRCOT, Matunga, Mumbai -19.

SR.	Item code	Decription of item				
NO	asper DSR-21		Unit	Qty.	Rate (Rs.)	Amount (Rs.)
1	15.2	Demolishing cement concrete manually /by mechnanical meand including disposal of material within 50 meters lead as per direction of Engineer - in-charge. Norminal concrete 1:3:6 or richer mix (i/c equivalent design mix)	cum	1	2007.1	2007.1
2	15.56	Dismantting old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meters lead	sqm	400	45.05	18020.00
3	15.6	Disposal of building rubbish/malba/similar unserviceable, dismantled or waste materials by mechanical means, including loading , transporting, unloading to approved municipal dumping ground or as approved by Engineer-in-charge, beyond 50m initial lead, for all leads including all lifts involved.	cum	75	219.35	16451.25
4	4.2.3	Providing and laying cement concrete in retaining walls, return walls, walls (any thickness) including attached pilsters, columns, piers, abutments, pillars posts, struts, buttresses, string or lacing courses, parapets, coping, bed blocks, anchor block, plain window sills, fillets, sunken floor, etc., up to floor five level, exculding the cost of centering, shuttering and finishing 1:2:4 (1 Cement: 2 coarse sand: 4 graded stone aggregate 20 mm nominal size)	cum	1	9375.2	9375.20
5	4.12	Extra for providing and mixing water proofing material in cement concrete work in doses by weight of cement as per manufacturere's specification.		10	64.87	648.70
6	13.12	18mm cement plaster in two coats under layer 12 mm thick cement plaster 1:5 (1 Cement:5 coarse sand) and a top layer 6 mm thick cement plaster 1:3 (1 cement :3 coarse sand) finished rough with sponge.	Sqm	250	461.85	115462.50

		Extra for providing and mixing	Dor hog			
		water proofing material in cement	Per bag of 50kg			
7	13.21	plaster work in proportioin	cement	15	60.55	908.25
		recommended by the	used in			2 2 2 3 2 2
		manufacturers.	the mix			
		6 mm plaster on cement concrete				
		or reinforced cement concrete work				
8	13.86	with white cement based polymer modified self curing mortar of	Sqm	10	217.5	2175.00
		approved make as per the direction				
		of Engineer-In-Charge.				
		Labour work:Finishing walls with				
		Premium Acrylic Smooth exterior paint with Silicone additives of				
		required shade: Two or more coats				
9	13.47.1	applied including priming coat of	Sqm	3000	101.35	304050.00
		(exterior primer (Note: Primer &				
		Paint will be supplied by the				
		Institute) Applying priming coat: with ready				
10	1.50.2	mixed red oxide zinc chromate primer	C	400	55.5	22200.00
10	1.50.3	of approved brand and manufacture	Sqm	400	55.5	22200.00
		on steel galvanised iron/steel works. Painting with synthetic enamel paint				
		of approved brand and manufacture to		400		1
11	13.61.1	give an even shade: Two or more	Sqm	400	131.45	42580.00
		coats.				
		Renewing glass panes, with putty and				
12	14.5.1	nails wherever necessary including racking out the	Sqm	5	941.95	4709.75
12	11.5.1	old putty: Float glass panes of		3	711.75	1705.75
		thickness 4 mm				
		Repair to plaster of thickness 12mm to				
		20mm in patches of area 2.5 sqm and under, including				
		cgu-tCtinIgRtCheOpTatch in proper				
		shape, raking out joints				
13	14.75	and preparing plastering the wall	Sqm	65	540.35	35122.75
		surface with white cement based polymer modified self curing mortar,				
		including desposal orf rubbish, all				
		complete as par the direction of				
		Engineer-In- Charge.				
		Providing and fixing 6.00mm thick ISI mark Asbestos Cement				
		Corrugated sheet roofing including				
14	SSR BDR7	galvanised iron 'J'or'L' hook bolts	Sqm	10	403.00	4030.00
17	SSR BDR7	galvanised ironbnd bituminous	-	10	403.00	4030.00
		G.I.washers, galvanised iron clamps,bolts, nuts and scaffolding				
		etc. complete.				
		Errection of single bamboo				
1.5	MR	scaffolding Work upto three floor		1500	50.00	75000.00
15	IVIK	level all complete as per the direction for sanitary, water supply, roofing	Sqm	1500	50.00	75000.00
		repair works.				
		Providing and laying safety net				
1.0	MD	around the building as directed at	C	1000	100.00	120000 00
16	MR	required height over the compound to collect the falling debris, dust etc so as	Sqm	1200	100.00	120000.00
		to facilitate safe passage of human and				
	1	I	l			

	complete.	Total Am	ount (Rs.)	7,72,741.00
	support etc complete.			
	vehicular traffic including required			

<u>Total amount in words: - Seven Lakh Seventy-Two Thousand Seven Hundred and Forty-One Only)</u>

Trupti Mokal Administrative Officer